chapter-9
Number Series, Coding and Decoding and Odd Man Out

: Find the wrong term of the series 121, 143, 165, 186, 209

(a) 143 (b) 165 T 186 (d) 209
2. Find missing term 7, 26, 63, 124, 215, 342 ?
(@) 391 (b) 421 (c) 481 511
3. Find odd man out of the series 145, 197, 257, 325,399
(a) 145 Wb 399 (c) 257 (d) 325
A Find missing term of the alphabet series ABD, DGK, HMS, MTB, SBL ?
(@) XKW (b) zAB (c) ZKU (d) ZKW
5 In a certain language, FLOWER is coded UOLDVI, then how is TERMINAL coded in that language?
(a) FLKPMROZ v(at.erVINRMZO . (c) RVNIGLKA (d) MNIVGYEO
MTP-October ‘19
6. Find the missing term of the series 17, 14, 15, 12,13, ?, ?
\(é{ 10,11 (b) 14,11 i (c) 11,13 (d) 12,13
: Find out the odd man out of the series 5, 27, 61, 122, 213, 340, 509 :
Uy 27 (b) 61 (c) 122 (d) 509
8 acbacach : .
(a) abcc (b) acba (c) bcaa (d) bcba
9. In a certain language TWINKLE is written as SVHOIKD, then how would FILTERS be written in the same
code?
\#/_ EHKUDOR (b) ITNFKD (c) KVOHMF (d) TIMFKD
10, If ‘MEEAT’ is written as ‘TEAM', then ‘BALE’ is written as
(a) ELAB (b) EABL (c) EBLA \(9) EALB

MTP-March ‘19

11. Find the missing term of the number series 24, 60, 120, 210, ?

(a) 300 “4‘(335 (c) 420 (d) 525
12, GO =32, SHE = 49, then SOME will be equal to
‘y(; (b) 58 (c) 62 : d) 64
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13,

14.

15.

16.

17.

18.

19,

20.

21.

22.

23,

24,

25,

26.

27.

o as ERMBVENO in thy |

ste
e Which word will bé writ
In a certain Code DECEMBER is written as NOVEMBER
code? cT OBER
(a) AUGUST (b} BEPTBMBRE (cg)ﬁ :; 192, 7 8
Eind the missing term of the number series 48; ¥ B5: 96, i :
(a) 76 (b) 90 o
Find odd one out of the series 37, 45, 49, 65, 79 (d) 65
(a) 37 (b) 45 ISl
Find the missing number of the series 22, 24, 28, ?,52,84 (d) 46
@) 36 (b) 38 (el
Find the missing number of series 1, 5, 13, 25, 41, ? (d) 63
(a) 51 (b) 57 (c) 61
If SUMMER is coded as RUNNER the code for WINTER will be
(a) SUITER (b) VIOUER (c) WALKER )y B PRER
In a certain code KAVERI is written as VAKIRE. How is MYSORE written in that code?
(a) EROSYM (b) SYMORE (c) SMYERP {eHl SHMEROD
MTP-Oct ‘20 2

Find next number in the following series 7, 11, 13, 17, 19, 23, 25, 29?
(a) 30 (b) 31 (a) 32 (d) 33
Find odd man out of the following series 41, 43, 47, 53, 61, 71, 73, 81 ,
(a) 41 (b) 47 (c) 61 (d) 81
If PLAY is coded as 8123 and RHYME is coded as 49367. What will be code of MALE?
(a) 6217 (b) 6198 (c) 6395 (d) 6285
Find the alphabet missing series ac_cab_baca_a_ab
{2} aghc . (b) aacb (c) babb (d) bebb

MTP-March ‘21
Find the missing term of the series 27,32,30,35, S
(a) 28 {(b). 31 (c) 36
Find out the letter series AZY, EXW, VU, ? \ (d) 38
{a) M™MTS
Find wrong number of the(sbe)rie'\jgg 37, 52,67 e (d) Lst

4 . =/, 32,67, 84,97
(a) 52
If TWENTY is written as %ggsid ELEVEN is wri i oohe B
(a) 863203 : 'S WItten 8323090 thianis i
(b) 863302 () St WELVE can e
20 coded

\\\W\Mww

* Number Series




28.

29.

|8

31

32.

33.

35.

37.

3s.

41.

42.

If ‘LOSE’ is coded 1357 and ‘GAIN’ is coded as 2468 What do the figure 82146 for

{3y NGLAI ox(B) NGLIA (c) GNLIA (d) GNLAI
If B =2 and BAG = 10, then BOX = ?
(a) 36 (b) 39 Jf{‘” G

MTP-March’22

The missing term of the series 11, 10 __27, 66.5, 198.5

(@) 14 (b) 16 (c) 21 i
What comes at last place inR, U, X, A, D, ?

() E | (b) F R et
If Z =52 and ACT = 48, then BAT will be equal to

(a) 39 (b) 41 (c) 44 | M

If ROSE is coded as 6821, CHAIR is coded as 73456 and PREACH is coded as 961473, what will be the code
for SEARCH?

(a) 246173 (b) 214673 (c) 214763 (d) 216473

If E=5 and READ is coded as 7, then what is the code of ‘DéAR’ ?

(a) 6 (b} & (c) 8 (d) 9
MTP-Oct’21

Find next term of the series 3,10,29,66, 127,?

(a) 164 {ib)E 187 (c) 246 (d) 218

Find out the wrong number. 10,14,28,32,64,68,132

{a] 28 (b) 32 (c) 64 (d) 132

in a certain code ‘SOUTHERN’ is written as ‘UVPTMQDG’. How is ‘MARIGOLD’ written in that code?

(a) JSBCNFKS (b) JSBNHPME (c) JSBNCKNF (d) NBSKCINF

in a certain code ‘PRISM’ is written as ‘OSHTL’ and ‘RUBLE’ is written as ‘QVAMD’. How will “WHORL’ be

~ written in that code?

(a) XISPM (b)  VINSK {c) UINSK : (d) XGPaMm
MTP-Nov’21

Find out the next term of the series 4, 25,121,289, _

(a) 529 (b) 441 (c) 625 (d) None

Which number should come next — 7, 13,13, 14,19, 15?

4 1 ' (B 2 ge) 19 (d) None

Find out the wrong number. 2,10,18,54,162,486,1458

3] 8., (b} 10 (c) 54 (d) 162

In a certain code, Delhi is capital is coded as 7 5 9 capital are beautiful ¢ is coded as 3 6 9 ¢, Delhi is
beautiful is coded as 6 7 5 Patna also capital is coded as 9 2 4. What is code for beautiful ? :

(a)2 (b) 4 (c) 6 (d) 9
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? 2415
TERMS ‘will be coded 2° , gl ©

43. If ‘SYSTEM' is coded as 131625 then " 64251
(a) 62251 (b) 62451 ’
MTP-2 Nov'22
MTP-2RC =
43
e o e 9 G
a4. Find the missing term of the following series : 3,1 a0 (d) 56
b} 3%
45. Find the missing term of the following series :3,/, 42, o (d) 52
c
(a) 30 (b) 31 (c) g
: : 85,
46. Find odd man out of the following series 3,4, 10, 32, 136, 6 (d) 4116
136 : i
(@) 10 (b) 32 ! o ol and ‘378" means ‘bu |
/ |d’: ‘546’ means ‘man 15 0
47. In a certain code language, ‘253’ means ‘books are old’;
good books’. What stands for ‘are’ in that code? () 6
(a) 2 (b) 4 elie
MTP-1 Nov’22
48.  Find the missing term in each of the following series : 6, 13, 25, 51, 1017 g.
(a) 201 (b) 202 (c) 203 (d) 205
49. Find the missing term in each of the following series : 28, 33,31,36, 34,?
(a) 48 (b) 39 (c) 54 (d) 62
50. In a certain code, TEACHER is written as VGCEJGT, How is CHILDREN written in that code?
(a) EJKNEGTP (b) EGKNEITP (c) EXXKNFGTO (d) EJKNFTGP
51. In a certain code language, ‘253" means ‘books are old’; ‘546’ means ‘man is old’ and ‘378’ means ‘buy
good books’. What stands for ‘are’ in that code?
Gl (b) 4 BE ik
52, If SUMMER is coded as RUNNER, the code for WINTER will be
(a) SUITER (b) VIOUER ¢
(c) WALKER (d) SUFFER
MTP-2 June’22
_'\
53. Find missing term of the series 2, 3,3,5, 10, 13,7, 43105 (75
(3) 23 (b) 38 (C) 39
54. Find wring number of the series 15,59,7,11,11,15,12,17 (d) 40
g (b) 12 (c) 17
55, Find missing term of the lett i (d) 15
L etter series A, CD, GHI, I uvwiny
a
b
: In a certain code TELEPHONE Is written as ENOHPELET How is o (d) NOPQ
TOR
(a) ROTAGILA b) R Writte
OTA Nin
(b) ROTAGAIL (¢) ROTAGILE that code?
(d) ROTEG| LA
60



7.

(a)

In a certain Code, ‘CLOUD’ is written as ‘GTRKF’. How is ‘SIGHT’ written in tha

t code?

UGHHT (b) UHIFW (c) WRIGV (d) WGJHV
ANSWER KEYS
1 (c) R ) 5, (b} ok
5 (b) 6, = ) % (&) 8 (d)
9 (a) 10 (d) i o) 12 " \a)
13 (d)v 14 (c) 15 i« " {c} 16 {3
17 (c) 18 (b) 19 (d) 20 (b)
21 (d) 20 g 2358 (b} 24 (d)
25 (a) 26 (b) 27 . 4y (a) 28 (a)
29 (c) 0 (a) S0 el B )
33 (b) 34 (b) 35  (d) 36 (d)
37 (c) 3 b 20 ala) 40 (b)
s ao ol 3 (b) (b)
45 (b) 6. (0 & () 48 ()
49 (b) ‘50 (d) 51 (a) 5 (b
53 (c) 54 (b) 55 (c) 56 iilh)
57 (d)




Chapter-10

Direction Tests

MTP-March ‘20 e and then turp; |
—(.——"—-_'.——-___.-— &

rough 45° CIO'CkWiS;vj?ga

is(h)e f:;;"tgh" . (d) south-West
G

eft and walks

hich direction.

in 180° clock wis

A man is facing towards East and turns th
through 270° anti-clock wise. In which direction
(a) West (b) North- East

Facing towards North, Ravi walks 35 m. He then turns |
35 m. How far is from original position and towards W @) 20m, L
< s i e S g 15 m, he turned to his left ang

Ram start moving from a point, facing in East direction. Aftcer walkl?35 L e to B heht ang
walked 25m, before turning to his right. Then, he walked a dlstanc-e o hi; o point.
stop after walking further a distance of 25 m. Find how far Ram is from

(a) 20m (b) 50m (c) 15m (d) 25m
MTP-October ‘19

A man starts for his office in the North direction, he turns to his left, and then to his right and again to
his right. In which direction he will be facing?

(a) North (b) South (c) East (d) North

Pramila is going towards East. She turns left, moves on same distance and again turns to her left. After
walking some distance, she turns to her right and moves on. In which direction she is going now?

(a) North (b) South (c) North-West (d) West

Town D is 12 km towards the North of A. Town C is 15 km towards the West of town D, Town B is 15 km
towards the west of town A, how far and which direction is town B from town C ?

(a) 15 Km towards North (b) 12 Km towards North

(c} 3 km towards South (d) 12 km towards South

Rajiv walks 10 m South from his house, turns left ; :

turns right and walks 5 m to reach the college. Ina\’:vdh:;IZ?riitg;\iiat'r?etg;?ls = W'alks g0 m, then
(a) North (b) South-West (c) North-East (d)eizsftrom g

MTP-March ‘19

Ramu walks 5 Kms starting from his house towards we

st then turng i
takes left turn e_md walks 2 km. Further, he turn left and walks 3 kmnght and walks 3 km. T hereafter he
kms. In what direction he is now from his house. - Finally, he turns right and walks 3
(a) West (b) North

55 m. He again turns left and walk;

turned left and drove another 30 km, when
and drove 20 kms before stopping for eveni
the town where he had supper. After eve

(a) - West (b) East

he stopped for lunch, After

ng tea. On i
ning tea incer:vore -he turned |efy and ¢ < 8gaiin tumed I
Which dlrection did . drove 30 kms to reach

(c) North € drive?

(d) South

SOme regt
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10.

1L

12.

13.

14.

16.

17.

18,

20.

A man is facing East, then he turns left and goes 10m then turns right and goes 5 m then goes 5 m to the

TR
South and from there 5 m to West. In whic h direction is be from his original place?  [MTP April ‘19]
(a) East (b) West (¢) North (d) South

MTP April, ‘19

From her home Prerna wishes to go to school. From home she goes towards North and then turns |eft
and then turns right, and finally she turns left and reaches school. In which direction her school is
situated with respect to her home?

{a) North-East (b) North-West (c) South-East (d) South-West

A child walks 25 feet towards North, turns right and walks 40 feet, turns right again and walks' 45 feet.
He then turns left and walks 20 feet. He turns left again walks 20 feet. Finally, he turns to his left to
walks another 20 feet. In which direction is the child from his starting point?

(a) North (b) South (c) West (d) East

N

MTP Oct ‘20

If East is replaced by South-East, then West will be replaced by which replaced by which of the following
directions? :

(a) North-East (b) North (e}’ East (d) North- West

Raju is facing East, he turns 100° in the clockwise direction and 145° in the anti-clock wise direction.
Which direction is he facing now?

(a) West (b) North-East (c) North (d) South-West

If a man on motor bike starts from a point and rides 4 km South then turns left and rides 2 km and turn
again to the right to ride in which direction is he moving?

(a) ‘North (b) West (c) South (d) North

Hema walks 30 km. North. Then, she turns right and walks 30 m then she turns right and walks 55 m. Then
she turns left and walks 20 m. Then she again turns left and walks 25 m. How many meters away is she
from her original position.

(a) 45m (b) 50m (c) 66m (d) 55m
MTP March ‘21

A man stands on a point and starts walking towards north then turns left then turns right and then left
in which direction he is moving.

(a) West (b) North (c) East (d) South

One evening before sunset, two friends Ravi and Raj were talking to each other face to face. If Ravi’s
shadow was exactly to his left side, which direction was Raj facing ?

(a) West (b) East (c) North (d) South
If South-West becomes North, then what will be the North-East be ?
(a) North (b) South-East (c) South (d) East

MTP-March’22

A boy from his home, first walks 20 m in North-West direction then 20 m in South - West direction. Next
he walks 20m South - East direction. Finally, he turns towards his house. In which direction. is he,
moving? ‘

(a) North - West (b) North-East (c) South - West (d) South - East
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other 12 km. He turp,

ks anott” ; . ‘
h. He turns right an ‘whaome and in which direction;

: rt his
Raiu leaves his house and walks 12 km towal’fg '::; How far is he fromm SR ki east
- i Iks 12 km more and turns left to wa 17 km east Then, turning to hj
right, waiks 10 km east (c) oes 50 M er. ’ .
. . n
L o d then turning to his right, hztger How far is he from 'tial
57, Achild goes 50 meter towards South émS 1o his left and 80€S AL
left, he goes 30 meter. Again he turn (d) g80m
position? (c) 50m
(a) 30m G 4 ‘
MTP-Oct ‘2 ic left. Finally, afte
: M:; right and a little fU"_ther.to r;;sh': moving now?r
23, Raju walks northwards. After a while, he turns to | left again. In which direction
walking a distance of one kilometre, he turns to his ; (d) West
Eas .
g o W it ich is in the East and comes to a crossing,
24, Ravi wants to go to the College. He starts from his home, Whhlcs ral. In which direction is the College?
The road to the left ends in a theatre, straight ahead is the hospitat. (d) West
c) East ‘
(a) North (b) South ( ) . ar and then 180o in the C|0CkWiS€
25. A man is facing south. He turns 135° in the anticlockwise directio
direction. Which direction is he facing now? d) South-West
outh-
(a) North-East (b) North-West (c) South-East (d} '
26. Rakesh moves towards South-East a distance of 7 m, then he moves toward.s West and travels a.‘ distance
of 14 m. From here he moves towards North-West a distance of 7 m and finally he moves a distance of
4 m towards East and stood at that point. How far is the starting point from where he stood?
(a) 3m (b) 4m {e) . 10m (d}) 11m
27. A and B start moving towards each other from two places 200 m apart. After walked 60 m, B turns left
and goes 20 m, then he turns right and goes 40 m. He then turns right again and comes back to the road
on which he had started walking. If A and B walk with the same speed, what is the distance between
them now?
(a) 20m b) 30m ; |
g @ o o
MTP-Nov’21
28. Kamal starts from point ‘O’ and moved towards North 2 k
m, then he t i
he turned towards North and walked up to 1 km reached at A. Find til:;n;i?tght ?"d fnoved 4 km again
(a) 6 (b) 7 fe] ance between OA.
29. When a person faces north and walks 25 i (d) s
i 5 S m right, and he turns left and walk
rns right and walks 40 m in which direction is he now e Sh?O M and again he turns
(a) North-West (b) North —East (c) South- g IS starting point.
30. . - tast
Sanjay started from his house towards west After a walkin (d) South-west
walked 10 km, he again turned to the right and walked el Ul km he ty
10 km in which direction shoulq i ed 5 km. After this he turns | ft""ed to the right and
(3) Seuth (b)  South-west ®tat 135% ang covered
31.  RajuWw (c) South-
toaJtLtl\e ::lgl;idafrzgm A":o Bin the east 10 m, then he turns towarg h A (d) N
walked 14 m. how far is from is she from por S right ang Walked 3 i et
i
(a) 4 feet (b) 5 feet ARA M. Again, he turned
(g} 19 feet
64 Eve oo (d) 13 feet




32.

35.

37.

39.

41.

s to the left and walked to about 25 m,

; rn
Mamtha moved a distance of 75 m towards north, then she tu e 08 Siraetlon was

turned left again and walks 80 m. Finally, she turns to the right at angle of 4
she is moving finally?

-East
(a) South-East (b) South-West (c) North-West {4} Nostn &3

MTP-March’22

M is to the East of D, F is to the South of D and K is to the West of F. M is in which direction with respect

to K?
(a) South-West (b) North-West (c) North-East (d) South-East

A cyclist goes 30 km to North and then turning right & goes to 40 km. Again hg turns Fo his fight and goes
20 km. After this he turns to his right and goes 40 km. How far is the from his starting point?

(a) Okm. (b)  10km. (c) 25km. (d) 40km.
MTP-2 Nov’'22
Neha walked 2 km west of her house and then turned south covering 4 km. Finally, she moved 3 km
towards east and then again 1 km west. How far is she from her initial position?
(@) 7km (b) 3km (c) 4 km (d) 12 km
Shweta moved a distance of 75 metres towards the north. She then turned to the left and walking for

about 25 metres, turned left again and walked 80 metres. Finally, she turned to the right at an angle of
45°. In which direction was she moving finally?

(a) South (b) South-West (c) North-East (d) North-West

Varun faces towards north. Turning to his right, he walks 25 metres. He then turns to his left and walks
30 metres. Next, he moves 25 metres to his right. He then turns to his right again and walks 55 metres.
Finally he turns to the right and moves 40 metres. In which direction is he now from his starting point?
(a) South-East (b) South-West (c) South (d) North-West

Pankaj is facing west. He turns 45° in the clockwise direction and then again another turns with 180° in
the same direction i.e. clockwise direction, after that he turns 270° in the anticlockwise direction
Which direction is he facing now ?

(a) North-West (b) West i (c) South-West (d) South

A man is facing north. He turns 45 degree in the clockwise direction and then another 180 degree in the
same direction and then 45 degree in the anticlockwise direction. Find which direction h

e is facin
now? g

(a) North (b) East (c) West (d) South
MTP-1 Nov’22

From home Neha goes towards North for her college and then she turns |

finally she turns left and reaches college. In which direction her college iseﬂ and then turns right, and

home 2 situated with respect to her
. v (b) North-East (c) North-West (d) South-East

Y is in the East of X which is in the North of Z. If P is in the South of Z, then in which dir t;.as .

(a) North (b) South ection of Y, is P?

(c) Soth-East (d) South-West
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4.

47.

49.

: to the south gf
ofQ, RIS to "
’ west of Q, B
’ pisto the S B ito 5
o each other bl o

hieh »
n, RIS in W
(b) gouth-Fast

adequate

pQ RS and T are situated close 1

I P 1§ 1s to the east of 1. The

P T Is to the north of Q anc
(a) North-West 1) Dot i
(¢) South-West

If South-West becomes North, then what wil
(b) South-East
is In North direction while minu

| North-East be? (d) East

(c) South uth direction. In which

(3) North te nﬁ(\,d'@ is in S50

in a clock at 12 : 30, hour needle 2
direction would be minute needle at 12:451 (d) East

(a) North-West (b) South-Fast (c) West
MTP-2 June’'22

t and walks 2§
. -« he turns to the lef »
Raju starts walking straight towards East. After walking 75 metres, :\:35 straight, again he turns to the
metres straight. Again, he turns to the left, walks a distance of 40 mie ol
left and walks a distance of 25 metres. How far is he from the starting p

(a) 25 meters (b) 50 meters (c) 115 meters

e turned towards
Ravi started from the house towards West. After walking a distance of 30 metres, h e
right and walked 20 metres. He then turned left and moving a distance of 10 metres, e
again and walked 40 metres. He now turned to the left and walked 5 metres. Finally, he turned to his

left. In which direction was he walking now?

(a) North (b) South - (c) East (d) South-West /
I am facing South. | turn right and walk 20 meters. Then | turn right again and walk 10 meters. Then | turn
left and walk 10 meters and then turning right walk 20 meters. Then | turn right again and walk 60 §
meters. Which direction am | facing now?

(a) North (b) North-West (c) East (d) North-East

Going 50 m to the south of her house Radhika turns left and goes another 20 m
North, she goes 30 m and then starts walking to her house. In which direction is s

(a) North-West (b) North (c) South-East

(d) 35 meters

Then turning to the |
he walking now?
(d) East E

other 180° in the same direction
ing now?

A man is facing west. He turns 45 in the clockwise direction and then an
and then 270° in the anticlackwise direction. Which direction is he fac

(a) South (b) North-West (c) West (d)
South-West
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ANSWER KEYS

¢ (b) 5 (c) ooy wlE
S (a) 6. (d) 7. (c) 8 A%
9, (b) 10. () 11.  (b) 12 {6
3. (d) 18t i) 15, & nefc) 365 19
17. (a) ) 19. {c) 20. (b)
21, (c) 20 &) 5 ) 4. (a)
25. (d) a6 G A 28. (d)
29. (c) 30. (d) 31 (b) 32. -(b)
33. (c) M (b 35 (c] 36 (b
37. (a) 38 e =Gl 40. (c)
41. (d) 42. e a2 (e 44.  (c)
45. (d) = (a) a7. (d) 48. (a)
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Chapter-11
Seating Arrangements

1-3

MTP-March ‘20
M
r the
Read the following information carefully and then a?SVYeg s
i D e nch, acin
Six friends A, B, C, D, E and F are sitting on a be C is sitting left to D-

Il.
|v. Eison the left end

I.  Ais sitting next to B. of the bench.

. D is not sitting with E.

V. Cis third position from right.

VI. Ais on the right side of B and B is to the right side of E.
Vil. A and C are sitting together.
VIIl. Fis sitting Right of D.

At what position A is sitting?
\sz Between B and C

(c) BetweenE andD

What is position of B?

(b) Between D and C
(d) Between Cand E

o7 Second from right (b) Centre - (c) Extreme left gy Second from left
What is position of D?

(a) Extreme from left E (b) Extreme right

(c) Third from left : k4] Second from right.

§ix Children A, B, C, D, E and F are sitting in a row facing towards North. C is sitting between A and E,D |
is not at the end. B is sitting immediate right of E, F is not at the right of end, but D is sitting 3rd lef : ¢ M
E. Which of the following is immediately right of D. ’ = <o
(a) A (b) F (c) E (d) ¢

Five Friends are sitting on a bench. A is to the left of B b i
- ut on i
the left of E. Who are atthe extremes? a1 of GRBtothe right ofB but one

(a) A B (b) A, D e} €E
' MTP-October ‘19

(d) B,D

Four girls are A, B, C and D are sittin i
| , B, g around a circle facj ‘
which of the following is definitel Pt celine B
y true? #andCarein
ont of each other,

(a) AandD are in front of each other (b)
(c) Dis tothe left of C (d)

A'is not between Band ¢
Ais to the left of ¢

the right of C, A and D have on
exactly in the middle?

(a) A

68
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10.

MTP Oct ‘20, March ‘21

ast. “C “is between ‘A’ and
he left of E ?

. < e’ 1 e i he ri ht
Six friends A, B, C, D, E and F are sitting in row facing g’ ‘B’ is justto the rig
of ‘E but left of D'. ‘F' is not right end. How many persons are tot

- (b) 2 (c) 3 Ll

MTP March, ‘19

six children A, B, C, D, E and F are sitting in a row. B is between F and D. E is between A and C How.ever,
A does not stand next to F or D. C does not stand next to D. F is between which of the following pairs of
children?

(a) BandE (b) BandC (c) BandD (d) BandA [MTP Oct 20]

Five students are A,B,C,D and E are standing in arrow . D is on the right of E; B is on the left of E but on
right of A. D is next to C on his left. T he student in middle is

(@) B (b) A (e} E (d C
MTP April, 2019

{Q.No.11-13) Study the following information carefully to answer the given questions. Eight person’s P to W
are sitting in front of one another in two rows. Each row has four persons. P is between U and V and facing
North. Q, who is to the imme diate left of M is facing W. Ris between T and M and W is to the immediate

right of V.

1. Who is sitting in front of R? [MTP March ‘19]
(a) U (b) Q (el v (d) P

12, Who is to the immediate right of R? [MTP March ‘19]
(a) ™M (b) U e MaEp (d)y T

13. In which of the following pairs, persons are sitting in front of each other? [MTPMarch ‘19]
(a) MV (b) RV (c) TV (d) UR

14, In a college party, 5 girls are sitting in a row. F is to the left of M and to the right of O. R is sitting to the

15,

16.

right of N but to the | eft of 0. Who is sitting in the middle?
(a) O (b) R (c) P (d) M

Five friends P, Q, R, S and T are sitting in a row facing North: Here, S is b
. ; : 3 ’ etwe s
immediate left of R. P is to the immediate left of T. Who is in the middle'-’en S O to the

(@) s (b) T (c) Q (d) R

Five people A, B, C, D and E are seated about a round table. E i
. Eve i L
adjacent chairs. ry chair is spaced equidistant from

I.  Cis seated next to A

Il.  Ais seated two seats from D.

Il B is not seated next to A.

Which of the following must be true?
() D is seated next to B.
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i ed next to A. : 1
e des given below: (d) Neither | nor
select the correct answer from the codes g th1and I

Bo
(a) Only | (b) Only Il (c)
MTP March ‘21 ; ioht of B and E is on the
‘ te rig
: immedia

Five boys A, B, C, D and E are sitting in a row facing north. A'is tofcheWho L pend from the left end>
g ir:1mediyate 'let;t <;f B but on the right of C and A is on the left of D. i
e by e ns that follow.

tio
| . 2 answer the ques
(Q. No 18-19) Read the following information carefully and . Bis sitting

i s : te e
Eight friends A, B, C, D, E, F, G and H are sitting in circle fac!ng the cen A nd B and E are not sitting
third to the left of B and second to the right of A. C is sitting between ‘

opposite to each other ?

between G and D. Hjs

18. Who is third to left ova ? s i (d) Cannot e termincd.
{a) k
19. Who is sitting between H and D

(a) F » (b) E (c) A (d) Cannot be determined.

MTP-March 22

Directions (Q 20-22): Study the following information carefully and answer the questions given below.
i P,Q, RS, T,UandV are sitting on a wall and all of them are facing West.
Il.  Sis'on the immediate left of R.
lll.  Tis at an extreme end and has Q as his neighbor.
IV. Vis between Q and U.
V. Sis sitting third from the north end.
20. Who is sitting to the left of S ?

(@ Q o (c) T () R
21 Which of the following pairs of people are sitting at the extreme ends ?
(a) av (b) PR (c) TP (d) ST

22.  Five girls are sitting on a bench to be photographed. Seema is to the |

Bindu. Mary is to the right of Rani.'Reeta is betw i
o een Rani and Mary. w
(a) Bindu (b) Rani

(Directions 23-24) . Four ladies A, B, C and D and four ge
facing each other

heft. of_R:fmi and to the right of
© s sitting immediate right to

(c) Mary

_ (d) s
ntlementE, F, g and H ar ) Seema

| € sitting in circle around a table
(f) No two ladies or gentlemen are sitting side by sige
(i) C,whois sitting between G and E, facing D
(iii) Fis between D and A and facing G
(iv) His to the right of B
23, Who is immediate neighbor of g 7

(a) GandH (b) Eand F

(c) Aandp
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2.

26.

27.

28.

29,

10 15 Immediate sitting immediately left of A
F %
i Bl e) € (d) D

(25-28) Study the followin
Kand W are sitting aroun
right of M. Dand P are no
neighbour of P. P is to th

8 information carefully to answer the questions given below. P, T, V, R, M, D,
d a circle table facing the centre. V is second to the left of T. T is fourth to the
timmediate neighbours of T. D is third to the right of P. W is not an immediate
e immediate left of K.

MTP-Oct’21
Who is Second to the left of K?

N P (b) R (c) M (d) W

Who is the immediate left of v?

What is R’s Position with respect to V?

(a) Third to the right (b) Fifth to the right (c) Third to the left (d) Second to the left

8 Persons A, B, C, D, E, F, G and H are sitting in two rows opposite to each other. Each row has four
persons. B and C are sitting in front of each other. C is between D and E. H is sitting immediate left of E.
Hand F are diagonally opposite. G and B are not near to each other. Who is in front of A?

(a) E (blap " @) c (@) B

A group of seven singers, facing the audience, are standing in a line on the stage as follow.

(i) Dis the right of C.

(ii) Fis stand beside G.

(iii) B is to the left of F.

(iv) C and B have one person between them.

(Vi) A and D have one person between them.

Who is sitting on the second from extreme right?

&) D (bl F fc) G (d) E
MTP-Nov’21

Five children are sitting in row. S is sitting next to P but not T. K is sitting next to R, who is sitting on the
extreme left and T is not sitting next to K. Who are adjacent to S.

(a) K+P (b) R+P (c) Onlyp (d) PandT

(31-33) Directions to salve

(a) p,Q,R,S T, U Vand Ware sitting round the circle and facing the centre.
(b) P is second to the right of T who is neighbour of R and V.

(c) S is not the neighbour of P.

(d) V is neighbour of U.
(e) Qis not between S and W. Wis not between u and S

i T
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31

32.

33.

35.

37.

39.

i) T

Who is immediate left of V? "
(c)

(b) U

{a) P
the right of 5

What is the position of R (b) second 10

(a) Between Pand T (d) inadequaté data
(c) tothe immediate right of W
Which of following are not neighbour (d) PQ
(a) uv (b) VT {e) Y

MTP-2 Nov’'22 e
A, P, R, X, Sand Z are sitting in a row. Sand Z are in the centre. A and P areat the ends. R IS SIttiNg to the
left of A. Who is to the immediate right of P? (d) Z

@ A (b) X (c) S
A8, C, D and E are sitting on a bench. Ais sitting next to B, C
who is on the left end of the bench. C is on the second position

E. A and C are sitting together. In which position A is sitting?
Between B and C

is si tting next to D, D is not sitting with ¢
from the right. A is to the right of B ang

(a) Between B and D (b)

(c) BetweenEandD (d) Between C and E

T . . . . '
s't::re are four chlldren_P, Q, R, S sitting in a row. P occupies seat next to Q but not next to R. If R is not
itting next to S? Who is occupying seat next to adjacent to S.
(a) Q
(b) P (c)Pand Q (d) None of these

Six persons A,B,C,D,E and F are standing i i
' ,B,C,D) nding in a circle.B is i
L e between D and C.A is between E and C.F is to the

a) B- b) €
(a) (b) (c)D (d) E
Five persons ing i i e
are standing in a line. One of the two Persons at the extreme e d f
nds is a professor and the

(a) 1st ' (b) 2nd (c) 3rd

(a) Apurva
(b) Anku
t (c) Abhishe '
Directions(Question 9 i
o s 30-42) Study the following informat
riends A, B, C, D, E and F are sitting in a ro lon carefully ang answ
ert

at the end. B is sitting at i :
g at immed
R 'ate right of E, F is not at the orth. C js sittj
Y Persons are there tq the right of D> right eng ut D js 'Tg bEtWeen A and E. D is not
(a) One ; Hiing o k-
(b) Two 3rd left of £
= () Three

\ (d) Four




41.

a3.

Which of the following is sitting to the left of D?
gl F (b) C (c) E (d) A

- Who is at the immediate left of C?

@ A (b) E (el €1
(d) Cannot be determined

Five persons are sitting on a bench to be photo graphed, S is to the left of N and to the right of B. Mis
to the right of N. R is between N amd M. Who is sitting immediate right to R.

(a) B (b) N (c) M (d) S

MTP-2 June’22

SiX.StLJ-dG.:nts are sitting in row in an examination hall. K is sitting between V and R. V is sitting next to M.
M is sitting next to B. B is sitting extreme left and Q is sitting next to R . Who is sitting adjacent to V?

(a) MandR (b) Mandk ~ (c)KandR (d) Mand Q

(45-46) Read the following information carefully and ‘answer the questions and answer the questions that

follow.

There are 3 females A,Band E and 4 males C, D, F, and G standing in a straight line. No two females are together.
Bis to right of C, F and D are not together as A is placed between them. G is not near B or EbutE

and F are together. D is not to the right of B.

45.

47,

Who are in the extreme ends?

(a) GandB (b) CandF (c) Band D (d) None of these

Who is exactly in the middle?

A (b) F (c) E ; (d) None of these

Study the following information carefully and answer the given Questions

Seven persons A, B, C,D, E FandGare sitting in a straight line (not necessarily in the same order)
facing North.

.  Only two persons sit between F and G and G sits second to the left of B.

II. D sits third to the left of €
lIl. E sits exactly between G and B and B sits at the extreme right end of the row.

Who amongst the following sits at the extreme left of the line?

{a) F (b) D (c) C (d) E
Who amongst the following sits exactly middle of the line?
(a) A (b) C (c) E (d) G
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ANSWER KEYS
ANIVEE

13

17/

21

25

29

33

37

41

45

(a)
(c)
(b)
(a)

(c)

{c}*

(b)
(b)
(c)
(d)
(a)

(a)

10
14
18
22
26

30

38

42

i 3 . Ad)
() 7 (c)
& 1.
(a) 15 (2}
(a) 1977 (o]
(c) B (@
() 27 (a)
(a) - 31% (b}
(b) 35" (b}
‘(_c) 39" wiid)
(a) 43 (c)
(b) 7 (b)
\.\4

g o)
. ()
12 . {d)
16 {c)
28 (b)
24 (a)
28 (a)
32 (a)
46 (b)

(d)

(b)
48  (b)




chapter-12
plood Relation

~

MTP-March ‘20

1 Pointing to a lady, a man said, “The son of her only brother is the brother of my wife”. How is lady is
related to man?
(@) Mother’s sister (b) Grandmother \,(,((Sister of father-in-law (d) Maternal Aunt
9. A family has a man, his wife, their four sons and their wives. The family of every son also 3 sons and one

daughter. Find out the total number of male members in the whole family?

(a) 4 (b) 8 (c) 12 \(})/17
3. Given that

i Ais motherof B. 2.  Cis sonofA. 3. Dis brother of E.

4. Eis daughter of B.

The grandmother of D is

ST A (b) B el & (d) E

4. Read the following information and answer the question

‘A+B’ means ‘A is the daughter of B".

‘A xB’ means ‘A is the son of B’.

‘A — B’ means ‘A is the wife of B'.

If P x Q-S, which of the following is true

(a) Sis wife of B \A‘ﬁ(s is father of P
(c) Pis daughter of Q (d) Qis father of P
MTP October ‘19
5. Cis mother of A and B. If Dis husband of B, then what is C to D?
(a) Mother (b) Aunt Mother-in-law  (d) Sister
6. Read the following information carefully to answer the questions that follow.

I ‘P + Q' means ‘P is father of Q'

II. ‘P - Q" means ‘P is mother of Q’

Il ‘P x Q’ means ‘P is brother of

IV. ‘P =+ Q' means ‘P is sister of Q'

Which of the following means ‘M’ is maternal uncle of T?

b, S cms—— .
Navkar Institute | CA Foundation | Paper 3: Busmess.Maths and LR & Stats : Compiler 75



hter of your fathe,

d oman, “His mother 1 e
idtoaw ,
pointing @ man to photo graph, a man sa’c h hotograph? paughte’
7. : ; d to the man in the p (d) .
Y& How is the woman is relate (©) wife . elated to MY wife?
(a) Sister Mother ’ ife’s brother. How Moni 15 ‘ ol
8 Moni is daughter of Sheela. sheela is wife of my W ' Sister
. . 3 (C) Sister
(a) Cousin \}P’r Niece
.March ‘19
mrTP-Marh — her, then how is A related D?
' ’ i 4 r
o, Alis B’ sister, C is B's mother, D is C's father, Eis DS me (d) Father
Ja)~ Granddaughter (b) Daughter lalsa e daughter of Y and Y is the son of Z.if
10. A, Q, Y and Z are different persons. Z is the father of Q. A'Is the daug
is the son of Y and B is the brother of P, then
(a) BandY are brothers \(b( A is sister of B
(c) Zis the uncle of B (d) QandY are brothers B or
, e 2 i a ¢
11. A is father of C and D is son of B. E is brother of A. If C is sister of D higw, 15 B her-in-Law
ther-in-
\Laa)/Sister-in—Law (b) Sister (c) Brother i) e
12 X is the husband of Y. W is the daughter of X. Z is husband of W. N is the daughter of Z. What is the
relationship of N to Y?
(a) Cousin (b) Niece (c) Daughter b(ﬁ'r Grand-daughter
13. ‘A’ reads a book and find the name of the author familiar. T he author ‘B’ is the paternal un cle of 'C". 'C'
“~ s the daughter of ‘A’ How is ‘B’ related to ‘A’?
\({)/ Brother (b) Sister (c) Father (d) Uncle
14, A’ s mother is sister of B and she has a daughter C who is 21 years old. How is B related to C?
a) Uncle b i
(a) ' \(/Maternal Uncle (c) Niece (d) Daughter
MTP Oct ‘20
15, Pointing to a photograph of a boy, Ravi said, “He i F
) ) Is son of
related to that boy ? heethagh 9f My mother”. How is Ravi
(a) Brother (b) Uncle (c) Cousin N»d')/
16. loff/:;Bfm”eans A is brother of B, A-B means A is sister of B and A x B i
e N : ’ m .
ollowing means that C is the son of M? €ans A is the father of B . Which
(@) M-NxC+F (b) F-C+NxM; () 'h ,
+M-
17.  If D is brother of B and B i o (d) MxN-
is related C. To answer this i C+F
necessary? question which of the followi
I The son of D is the grandso’n of C I ents o
Il Bis the sister of p.
a) Onl
s (Th y1 (b) Only 1l (€] Either
. ere are two couple in a fami : .1 orl
K. U 18 Slster G5, who I Sznm:;/.ol( Qas tt\;]vo children. M js wife of O, wh \(%nd N
IS the son of B, who i , °i5theb
a » WNO Is th rot :
(a) Mother (b) Brother tg ® male, Hoy | . re|hEr of B. F is daughter
ister : ated to T?
76
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19-

21.

24,

27,

28,

29,

MTP March ‘21
If A+B means‘A is the sister of B, A x B means A is the wife of B, A % B means Ais the father of B and A
— B means A is the brother of B. Which of the following means T is the daughter of P?

(3) PxQ%R+S-~T T PxQ%R-T+S

fc] PxQ%R+T-~$ (d) PxQ%R-T+S

Anil said “This girl is the wife of the grandson of my mother”. How is Anil related to the girl?

S eother (b) Grandfather (c) Husband \df Father-in-law

P is the mother of K, K is the sister of D. D is the father of J. How is P related to j ?

(a) Mother BY Grandmother (c) Aunt (d) Data is inadequate.

In a family, there are six members A, B, C, D, E and F. A and B are a married couple, A being the male
member. D is the only son of C, who is the brother of A. E is the sister of D. B is the daughter-in-law of
F, whose husband has died. How is E related to C ?

(a) Sister \/Ua’)/Daughter (c) Cousin (d) Mother

MTP-March ‘22
D is daughter of E . A is son of D . C is brother of A and B is sister of A . F is brother of D . How F is related

toB?

(a) Father-in -Law w( Uncle (c) Brother (d) Mother-in-law
Introducing a boy a girl said, “He is the son of the daughter of the father of my uncle “. Who is the boy
to the girl ?

( Brother (b) Nephew (c) Uncle (d) Son-in-law 2
It is given that “A is the mother of B; B is the sister of C; C is the father of D”. How is A related to D?
(a) Mother \uy)/ Grandmother (c) Aunt (d) Sister «

Rita told Mani, “The girl | met yesterday at the beach was the youngest daughter of the brother-in-law
of my friend’s mother.” How is the girl related to Rita’s friend ?

‘(})/Cousin (b) Daughter - (c) Niece (d) Aunt
- Sanjay has three daughters, and each daughter has a brother. How many male members are there in the

family?
&( 4 \)Jr)/ 2 (c) 3 (d) 1

MTP-Oct ‘21

Ais the son of C; C and Qare the sisters; Z is the mother of Q and P is the son of Z. Which of the following

statements is true? :
(a) A and P are cousins (b) Cand P are sisters

J¢f P is the maternal uncle of A (d) Ais the maternal uncle of P

‘X @ Y’ means ‘X is the mother of Y,
X $ Y means ‘X is the husband of Y;
X # Y’ means ‘X is the sister of Y’
X * Y’ means ‘X is the son of Y.

Which of the following indicates the relationship ‘A is daughter of p’? ,
(a) P@BH#F*A (b) P@BH#HA*F (c) AHF*B@P M*BSP
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30.

31.

35.

37.

(From Q.30 to Q.33)

ix chi i ll, namely P, 0
There are six children playing football, v brother
only son of P’s uncle, Q and S are the daughters of the only
Four
female players are there? (d)
How many fe play ( shie
(a) one (b) two /
How is S is related to P (d) Cousin
iece
(a) Uncle \/M Sister I} wife’s mother’s only daughter”
Pointing towards photograph. Vinod said, “she is the daughter of my
How is Vinod is related to the girl in the Photograph;/ o hone
(a) Cousin (b) Uncle ¢) Father

\_(zﬂ/ Brother (b) Uncle

Pt b
irections(Questions 39-41) Read the following information ap

. Anita is the niece of Prateek’

Rohan’s mother i ita” di wet be . i
Is Anita’s grandmother. From this information ok Anita’s Mother’s brother

ions given below?
e quest!
swer th

Read the following information ¢ i g bothers,
Q. R 5 T M e fR’S father

arefully and an U is sister of T, Ris th, |

MTP-Nov '21
el Ui >

“He is the son Of the only son Of my gfandfather' HOW IS thF: man

Pointing to a photograph Lalita says,
in the photograph related to Lalita?

(c) Cousin (d) Data is inadequate

Pointing to a photograph. Ram said, “He is the son of the only daughter of the father of my brother”
How is Ram related to the man in the photograph?

(a) Nephew (b) Brother (c) Father ‘9)’ Maternal Uncle
MTP-2 Nov’22
If X is brother of son of Y’s son, then how is X related to Y ?

(a) Brother (b) Cousin \(/-;}érandson (d) Son
If P is the husband of Q and R is the mother of S and Q. What is R to p?

(a) Mother (b) Sister (c) M
Aunt
Mother-in-law

Bis the brother of A. Whose only sister is mother of C. D is

% maternal grandmother of C. How is A related
(a) Aunt (b) Daughter-in-law mughter
X and Y are the children of A. A'i;?e'father of X but Y is not his son. H (d) Nephew
- How j
(a) Son il oy S Y related to A?

MTP-1 Nov’22
s

d answe
: r the i
s mother. Anita’s mother s Pratee Atestions given below.

= ’ : deduc
o esmohaits | ofanin o Si "elationship betw
(a) Aunt e
O relatj
- on

\ (d) SiStEr



41

ts

45.

11
16
21
26
31
36
41

Prateek’s and Anita’s mother are

a) Cousin siste i
( ] (b) Sister-in-law (c) Friends H'd')/s'sl‘ers
Rohan is Prateek’s

.
e,

Broth -
(a) ok (b) Brother-in-law ._Le(Uncle (d) Cousin brothers

MTP-2 June’22

Eis the son of A. D is the son of B_ E s married to C. C is B's daughter. How is D related to £ ?
(a) Brother (b) Uncle J;,)/Brother—in-law (d) Husband

Poin:ing toyvards a girl in the photograph, Pooja said. “She is the mother of Janaki whose father is my
son. chw Is Pooja related to the girl in the photograph?

g Mother (b) Cousin (c) Aunt (#f Mother-in-Law

There are six children playing football namely A, B, C, D, E and F. A and E are brothers. F is the sister of

E. Cis the only son of A’s uncle. B and D are the daughters of the brother of C’s father. How is C related
toF? :

M Cousin (b) Brother (c) Son (d) Uncle

B is the brother of A whose only sister is mother of C, D is maternal grandmother of C How is A related

to D?
(a) Aunt (b) Daughter-in-law \(;Xéghter ‘ (d) Nephew

If X+Y maens X is the mother of Y; X-Y means X is the brother of Y; X%Y means X is the father of Y and XxY
means< X is the sister of Y, Which of the following shows that A is the materanal uncle of B?

(a) B+DxC-A (b) B-D%A MC+DxB (d) A+CxD-B
ANSWER KEYS
(c) : 2 ) ‘ 3 (a) 4 (b) 5 (c)]
(b) Z ) 8 ({b) 9 (a) 10 (b)
G 2 (@) 3 (@) 14 (b) 15 (@)
(d) i 18 (d) 19 (b) 20 (d)
(b) 22 < (Bl it - 24 (a) 25 (b.)
(a) 27 (b) 28 (c) 29 (d) 30 (c)
(b) 39 (¢ 33 (a) 34 (d) 35 lai
(d) a7 ..(e) 38 (b) 39 (b) 40 (d)
(©) 2 (o Bl 4 (a) 45 (¢)
(c)
ol

B
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